Measurement, Scaling, Instrumentation
Weekly Exercise 1
Due March 27, at 09.00.

1.

The length of a log is 5 m. The radius of the log at the top is 12 cm, including bark, and changes according to a function dr = (al)1/2 d l , where l is the co-ordinate along the length axis.

What is the root diameter of the log?

What is the length of the boundary line along the bark surface of the log from the top to the root, on one side of the log?

What is the cross-sectional area perpendicular to the length?

2. 

What is the volume of the log of task 1?

3.

The radius of a log is r = (r0 + (al)1/2 ) (b + d cos), where l is the co-ordinate along the length axis, and  is an angular co-ordinate within the plane perpendicular to the length axis. What is the cross-sectional area perpendicular to the length?

4. 

Weigh a load of sawlogs in air. The result is 10 400 kg. Weigh the same logs submerged in water. The result is -1 400 kg. What is the volume of the load of logs?

